CBSE Class 10 English
Determiners MCQs

Choose the correct option to complete each sentence:
Ql. sisters are married.

A. Each
B. Every
C. Both
D. Any

Q2. students should attend the conference.

A. Both
B. Each
C. Every
D. None of These

Q3.We should inform
A. little

B. every

C.an

D. all

Q4.They have spent
A. many

B. enough

C. few

D the few

Q5.Nowadays
A. a little

B. neither

C. either

D. most

customers about this scheme.

money for their son’s wedding.

candidates pass the exams.

Qe. deadline is met.

A. Neither
B. Most
C. Many
D. Much

Q7.Can | borrow
A. much

B. some

C. the few

D. a few

sugar?




Q8.With this, you have lost chance that you had.

A. a little
B. little

C. the little
D. slight

Q9. participants left the meeting in between.

A. Several
B. Much
C. The few
D. Little

Q10.It seems that they would need workers for the construction.

A. little

B. either
C. more
D. some

Q1l1. man that we saw turned out to be a thief.

A A

B. The
C. That
D. This

Qil2. people in India know about Cricket.

A. Little
B. Either
C. Neither
D. Many

Q13.He does
A. less

B. the few

C. fewer

D. all of these

Q1l4.He told me that
A.a

B. the

C. this

D. None of the above

Q15.You can pick
A. much
B. more
C. either

work in the company.

blue was her favourite colour.

dress.




D.some

Q1le. students were punished.
A. All
B. Much
C. little
D. Every
Q17.Thereisn’t cash left with us.
A.some
B. many
C. more
D. much
Q18.He does not have friends.
A. much
B. more
C. many
D. all
Qilo. relative has been invited.
A. Every
B. Few
C. Many
D. Much
Q20. sun is about to set.
A A
B. An
C.The
D. A little
Answer Key
Q. No. | Answer | Q. No. | Answer
1 C 11 B
2 A 12 D
3 D 13 A
4 B 14 D
5 D 15 C
6 A 16 A
7 B 17 D
8 C 18 C
9 A 19 A
10 C 20 C




